H & 0l & AHS B Ml A

A nSHEL
B DE oM U DEXA =
el HsnsSedst (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSHF 33,137,482 25,315,739 7,821,743
= 327,190
N 762,000
= 820,836
Al 31,227,456
wsS M 2 WSEA E 30,599,865 24,990,115 5,609,750
= 327,190
N 762,000
= 820,836
Al 28,689,839
HEnsedst 26,881,324 21,753,924 5,127,400
= 327,190
N 762,000
= 751,686
Al 25,040,448
SgA 3EHe Xd 13,758,274 9,984,330 3,773,944
201 fer= 3| 68,380 46,160 22,220
01 At 2|l 68,380 46,160 22,220
0 &Bt~Sd| 52,850
OMELS=2 25 822 MH
20,650,000 * 14| 20,650
O H=SEHAl 012t MA
1002 *900A!I CH 50K * 122 5,400
O ZH24SAA EZIH M
100,000 8 *43] 3,200
O AlUHA &E Al 23,600
- E5 QHAAF M=
13,600,000 * 14 13,600
- EF[E AN AR HMIE
10,000,000& * 14! 10,000
O 2g+¢ 3,200
O WSS 0lSEHASN 2 H#H+E
100,000 x99 »23] 1,800
O AEESEAl HESXt 13 S8E
100,000 *7 & »23] 1,400
0 s4H| 6,930
O Usus 2d g4
9,000& »7E*110& 6,930
O Xz 5,400
O HSEAl 22AAE AES
450,000 123 5,400
202 04| 10,520 11,260 AT40
01 =LHO LI 10,520 11,260 AT40
0 ggs NSk RItExs 28 Xl =0l
20,0003 38 +8& 480




A NS
B WS X U DETA =
Hel: Hsunsasdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEEREEE EEREEEE
80,0002 x5 73] 2,800
O 2+gMd X383
20,0003 x4 & +63] 480
O o & =Sk 2EME S5 B2F
&l 20,0003 4 »20 1,600
O ggs ASA MKl &K &0l
20,0002 %25 »24 960
0 RE#™AS =7
20,0003 x63 365 4,200
203 =] 4,500 4,500
03 A=A 2= 4,500 4,500
[ REHH 4227
4,500,002 14! 4,500
207 ARl 200,000 56,000 144,000
01 A1E4H| 200,000 56,000 144,000
U AlLHH A& 2S AT L SIAHZAL S
200,000,000 * 14 200,000
301 EetE NS 573,780 49,360 524,420
11 #AIAHIXIE S 3,780 3,360 420
O WSEM & AFDS01D] AL AT SA
NS 9,000&*70& *63] 3,780
14 IIEt2 8= 570,000 46,000 524,000
O SASSE 8AIKE
150,000,000 *14] 150,000
O ZHEH=ZHAl =8 N
1,0002+35,00024* 122 420,000
307 212+01& 12,097,000 9,027,956 3,069,044
02 LB HANHEE 7,000 7,000 0
O ZE=ddgs 2538z ¢sXd
7,000,000 14 7,000
09 2s-gAE2LS 12,090,000 9,020,956 3,069,044
O A gol 22X
210,000,000& *4=7| 840,000
O SOEHA 4 s cAEa3
7,200,000,000& *14] 7,200,000
O SAS3E A K&
200,000,000& *14] 200,000
O AUHA SHAX] M2 AL E 22 =
Ald] 30,000,000 x 14 30,000
O HAHDIE 22ldl X3
300,000& * 122 3,600
O] Al otE=2 X
80,0003 »2. 0%+440CH*300! 211,200
O U728 SS4EH BASSH 240
H 22X 700,000,000 *4=7| 2,800,000
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2o susgdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 3425 =0 5 HE0S 2% 225
S4oli 2x3
250,000,000& #2=2 7| 500,000
O AILHB A CCTV & LEDEZ & Wl 283,600
O CCTV 1WAl 1,200,000 *28KIE 33,600
O LED &&Z& W 5,000,000 «50H 250,000
[ BEICE AR 222
21,600,000 » 14 21,600
308 AXIHSO0IA 804,094 785,594 18,500
07 MK SHHARE = 18,000 0 18,000
O 73S SSMEA BossH 22
4,500,000 4221 18,000
13 SI[2S0He & A AS A 786,094 785,594 500
O SA2dE22elAAY 29
6,004,000 * 14 6,004
0 A0l E3HE g2 24|
780,000,000 * 14 780,000
HAZZAIAE(BIS) 22 270,810 242,810 28,000
201 fet= 3| 208,370 208,370 0
02 S3=gHl 208,370 208,370 0
033222 2 HMA 53,349
O HAZEAIAHS(BIS) EF/E QHHSHZD
| 2 SUAEE
32,1602 1080~ 12 41,680
O HAZEAIAH(BIS) XHtE2D| SAA
g= 8,800 +78CH* 12 8,237
O HAZEBAIAH(BIS) M3 AMEZ
286,000 * 128 3,432
O Al &HIs Xl 185,021
O HAZFOHD =& & F A2l
3,000,000 #32] 9,000
O HAHZ)| =8 & FX22]
11,0002 +78CH* 122 10,296
O LEAHAZEAAR(SHOIX) S
cldl 110,000,000 *10% 11,000
O HARSAIAE(BIS) SXI22lH] 124,725
SEX=z¥ 220,925,000& *12% 26,511
ABATESO
185,883,000 *12% 22,306
ST THI(FFALHII)
662,074,000 *8% 52,966
- NHZEHI 176,145,000 8% 14,092
HEAI S 40,897,000 *8% 3,272
- SOHEHI (YY)
46,482,000 *12% 5,578
207 ARl 2,440 2,440 0




A nSHEL
B DE oM U DEXA =
Hel: Hsunsasdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MAHHZHI 2,440 2,440 0
O Hiold A oflgfeial T2 08 PA(MHE)
440,000 *5H 2,200
O Hiold A oflgeial T2 08 24(PCE)
40,0002 *6IH 240
401 AIEHIZ SR 0HYI 60,000 32,000 28,000
01 Al&HI 60,000 32,000 28,000
O HAFSAIAE S2D|(BIT) &X
12,000,000 #5002 60,000
HACHTE EXZAML(EX) 1,599,822 1,413,938 185,884
N 487,000
< 107,137
Al 1,005,685
307 elztol & 1,599,822 1,413,938 185,884
N 487,000
== 107,137
Al 1,005,685
0 2FHEXS 1,599,822 1,413,938 185,884
O HAEEXE EXAY
1,599,822,000& x14] 1,599,822
N 487,000
s 107,137
Al 1,005,685
AMULSHEHATHE & ZEX(EX) 433,518 504,298 AT70,780
S 216,759
Al 216,759
307 elztol & 433,518 504,298 AT70,780
= 216,759
Al 216,759
B 2=gHEXS 433,518 504,298 AT70,780
O AUSHEHAME & BEXF
433,518,000 x 14 433,518
=S 216,759
Al 216,759
ANUHSHEHAHHIIXE L SSHATAHIXR(EX) 509,000 45,000 464,000
< 32,160
Al 476,840
307 glztol & 509,000 45,000 464,000
= 32,160
Al 476,840
09 2+ AHAELS 509,000 45,000 464,000
O SSHAPYHIXZ(EE) & HHIAZ
90,000, 0002 =4CH 360,000
=S 32,160
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=R Hsnsedst (St
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 327,840
[ = HHBAI-BYH AT
74,500,000 +2CH 149,000
HA 2SR (EX) 135,000 135,000 0
= 40,500
Al 94,500
307 elztol & 135,000 135,000 0
= 40,500
Al 94,500
QB 2=gHEXS 135,000 135,000 0
O MaA 2SHIX2
135,000,000 * 14! 135,000
== 40,500
Al 94,500
UHzsnsStl &= X K-THA)(EX) 142,000 56,000 86,000
= 71,000
Al 71,000
308 AXIMSOIA 142,000 56,000 86,000
= 71,000
Al 71,000
18 SIS0t HAS A 142,000 56,000 86,000
O 1w S| SSXJAG (K-THA)
142,000,000 * 14 142,000
= 71,000
Al 71,000
A A AKX SSHEER XX (EX) 10,760 21,840 211,080
& 3,220
Al 7,540
307 glztol & 10,760 21,840 211,080
= 3,220
Al 7,540
B 2=gHEXS 10,760 21,840 211,080
O HAHA ARXIN SS0HEER 231X
= 10,760,000 x14] 10,760
=S 3,220
Al 7,540
2 HIIHA 2H XA(E=X) 100,000 0 100,000
< 30,000
Al 70,000
307 glztol & 100,000 0 100,000
= 30,000
Al 70,000
09 2+ AHAELS 100,000 0 100,000
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B WS X U DETA =
Hel: Hsunsasdst (ct9: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2+ EIHA TSI (RAHA)
100,000,000 *14] 100,000
= 30,000
Al 70,000
HAXSAEDIE 2E XJ(EX) 43,900 50,000 26,100
== 13,170
Al 30,730
307 212+01& 43,900 50,000 26,100
[ 13,170
Al 30,730
09 2+A2LS 43,900 50,000 26,100
O GRS ED 22
43,900,000 * 14 43,900
= 13,170
Al 30,730
OAXSIIEDIE S2OIH(EX) 17,000 24,000 AT7,000
s 5,000
Al 12,000
307 212+01& 17,000 24,000 AT7,000
[ 5,000
Al 12,000
09 2+LAE2LS 17,000 24,000 /7,000
O AXSIE DY SEe
17,000,000 » 14 17,000
= 5,000
Al 12,000
CAIB3E HAXH(EX) 390,000 300,000 90,000
Xl 195,000
Al 195,000
307 21201 & 390,000 300,000 90,000
N 195,000
Al 195,000
QO 2= HEXS 390,000 300,000 90,000
O SAS3E AKX
390,000,000 * 14 390,000
N 195,000
Al 195,000
+=RS8YEANSHAXIZFMNE (EX) 484,700 0 484,700
=S 130,200
Al 354,500
307 @12t01 & 484,700 0 484,700
== 130,200
Al 364,500
0 2= HEXS 484,700 0 484,700
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2N DERFD
HE: DS oF o DERN =Y
Hel: Hsunsasdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
X 80,000
Al 240,000
14 JIEF2 413 320,000 320,000 0
O 2THEA X 320,000,002 141 320,000
X 80,000
Al 240,000
NI ETEES) 720,000 572,000 148,000
2 70,200
= 49,140
Al 600,660
301 LR HI 720,000 572,000 148,000
2 70,200
= 49,140
Al 600,660
14 JIEF2 413 720,000 572,000 148,000
O SARRZAS 40,000,002 18CH 720,000
2 70,200
= 49,140
Al 600,660
CSAIDHRIH(EX) 39,000 52,500 13,500
= 11,700
Al 27,300
307 BI240IH 39,000 52,500 A13,500
= 11,700
Al 27,300
0 24+EH2E 39,000 52,500 A13,500
) S SeAl DRI
1,500, 00021 %26CH 39,000
= 11,700
Al 27,300
xS A 6,295,040 6,278,848 16, 192
307 I2¢0IH 6,295,040 6,278,848 16, 192
e 6,295,040 6.278.,848 16, 192
EESICE =Wk 6,295,040
O B 3809179041, 2802 4+ 122 461,108
O =AIOK!, B0l
13221 +450CH 465021 Ef» 122 463,320
O st
34621+095C} 1, 3002 £+ 122 5,370,612
SEnsS4 29(THH) 650,000 642,500 7,500
307 BI240IH 650,000 642,500 7,500
05 SI2RIErS 650,000 642,500 7,500
O YHADSAX0ISTRHE (SEDS4
) 29 50,000,002 13CH 650,000
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B WS X U DETA =
el HEusSE-3 (St
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sgussg 29H|(EX) 460,000 600, 160 140,160
= 130,000
== 15,000
Al 315,000
301 2eEN= 200,000 353,160 A153,160
< 15,000
Al 185,000
14 JIEt2 8= 200,000 353,160 153,160
0 SgussH UIHEA2IXR
200,000,000 * 14 200,000
= 15,000
Al 185,000
307 @I2t01 & 260,000 247,000 13,000
= 130,000
Al 130,000
05 2ItRIE= 260,000 247,000 13,000
O SERS4e 294)
20,000,000 *13CH 260,000
= 130,000
Al 130,000
SgussH FLXA(EX) 106,000 163,000 247,000
= 49,000
= 14,700
Al 42,300
405 AHaHE = 106,000 163,000 247,000
= 49,000
& 14,700
Al 42,300
01 AL =S F=H 106,000 163,000 247,000
[ Sgns+d 22X
53,000, 000:& +2CH 106,000
= 49,000
< 14,700
Al 42,300
NI OISHEXII(AM) ADIEAHIOIE &X 48,000 0 48,000
201 er23 | 48,000 0 48,000
01 At2teltl 48,000 48,000
02Xz 48,000
O A0IEAHIOIE EX=
200,000 *2001 A+ 122 48,000
DEN2EES g AHIEIE(XHH) 36,000 36,000 0
301 2= 36,000 36,000 0
14 JIEt2 8= 36,000 36,000
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NEE N (£ &2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
207 AN LI 100,000 50,000 50,000
01 g1 =] 100,000 50,000 50,000
O nESds A3t AlE &Y
100,000,000 * 14 100,000
401 AlEHIZLE0HY| 2,863,300 2,373,665 489,635
01 Al&HI 2,855,500 2,369,400 486,100
O HASZE X 2 WXl
20,000,000 *5IH 2~ 100,000
O REWAS &85 U Fy
300,000,000 =14 300,000
0O WsSaAs)| EXSAHEFESF L Je
SJ| dld) 220,000,000& * 14! 220,000
] ZES &XSAt
8,000,000& 1074 2~ 80,000
O WS&ES MOl Wi ¥ Xt2e SAF
90,000,000 14! 90,000
O AT EM(M2E5H)
7,500,000 *65km 487,500
O AN (+=2Y)
2,000, 0002 *75km 150,000
O s AZS(Set) AESA
20,000,000 14! 20,000
O nsS=EXE 4 180,000,000 * 14 180,000
O sgs) X84
34,000,0003 *14! 34,000
O WSoHEAIA Alol DtZA A E|
200,000,000 =14 200,000
O BSASI| RAE4
12,500,000&  12& 150,000
[ WSoHtNAId=E RAES
8,000,000& *12& 96,000
[0 T4 EXE Y
1,000,000 *607H 2~ 60,000
O =% LSS wXl
800, 0002 *60JH 2 48,000
O &SD], d8E &) oHNMEH L B4
40,000,000 * 14| 40,000
O CHIs Raiss 4| X
40,000, 000-& »2CH 80,000
[ Ol=4 Roiss &txl X
10,000,000 x2JH 2~ 20,000
O das=+E eI EX
500, 000 *60JH 2~ 30,000
O usSdss X
80,000,000 *37H 2~ 240,000
[J LED ZHEA! HX[E 4X
60,000,000 14| 60,000




A nSHEL
B DE OF U DEIA =
Rl WEAEE A c
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O BEHASS BXEX AXAY
50,000,000& » 14 50,000
O ADE HAEREY £X
60,000,000 *2JH 2 120,000
03 Al 20HHI 7,800 4,265 3,535
O BSAE= EH 7,800,000 +14] 7,800
WSHNMAIEEZ(EX) 194,500 173,000 21,500
= 58,350
Al 136,150
401 AIZHIZ S0 194,500 173,000 21,500
= 58,350
Al 136,150
01 AlZH| 194,500 173,000 21,500
O USAHMAEEZ
194,500,000 * 14! 194,500
== 58,350
Al 136,150
OS2t Adetdad X8 (ExX) 36,000 80,000 244,000
= 10,800
Al 25,200
401 AIZHIZ SO 36,000 80,000 244,000
= 10,800
Al 25,200
01 AlZH| 36,000 80,000 A\44,000
O Oi=g dperdz &4
36,000,000 * 14 36,000
s 10,800
Al 25,200
He3sl 2=EELHMEUS 2F(REsdE ) 59,600 0 59,600
201 el 49,600 49,600
03 A= &I 49,600 49,600
O wS2cl 918 sM4N3
9,000 x 100 x241 x4 7,200
O =X =X e &X
150,000 *20H 3,000
O SAIF=XE z2tet 50,0002 *20K 1,000
O nSHRP TISHI(EN)
40,0002 1008 4,000
O nsSot Fr& (323, 3Febl)
20,0002 %100 2,000
O X&& =X HE (X))
10,0002 %2,0007H 20,000
0O usSet s=2= 100&%70,000% 7,000
O WSOt S5 90,0002 x600H 5,400
301 LEetE N = 10,000 0 10,000




A NSHAD
B DE OF U DEIA =
Cel: NSAIES A (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
14 JIEt2 43 10,000 0 10,000
O H6ssl SOIXA DEXNE 25 78 N
DHSEXAES])
10,000,000 14! 10,000
DHSHO CIAAF =X 71,121 84,546 13,425
NSX SE A 71,121 84,546 13,425
201 Ler2 | 67,681 63,746 3,93
01 At 22|l 14,530 13,150 1,380
[J ¢Bt=ZH| 10,570
O KSXHEAF AFE, 3, 38 gM K2
110,000& *3B*4t A 1,320
O Xsxt2eld fetittis OXA |0l
110,000 x4 #5824 A 2,200
O NEHSEZ U AFAA S0
100&*5,00000 %55 2,500
O HEAMRII| ABE 7
350,000& 4 CH+33] 4,200
O dHINREEZ 7Y 70,0002 53] 350
O 24| 3,960
O UHSE JR2FA
9,0002 x4Hx110 3,960
02 B22gH| 53,151 50,5% 2,555
03222 £ HAl 50,391
O XSXHEAL AIEOHY RBS
430&+23,000H 9,890
O N=sxt2eldy etlEis OXM SEZ
2,530& 4,000 10,120
O XS AL Zetl, ZAMGE N 28
= 2,530& *5,500A 13,915
O Nsx ZI| 0l=3xg AEE =&
RE= 2,530& *6,000H 15,180
O A 2XES =2
65,0002 122 780
O Xt&2d oHEE RS
2,530& 200 506
O AIEEHIRXIY] 2,760
O ZAMHHAIAE SX2eld]
230,000& =123 2,760
202 O4H| 3,440 5,200 A1,760
01 =WOdbI 3,440 5,200 A1,760
O XISt sE2d RFA
80,0003 x4 H 73] 2,240
O CHEXIS Hooh X HRFX
80,0003 *2H +53| 800
O HSEMZE J4A L A S| =0l
20,0002 x4 F 5 400
AE2tel MglA KR 25,000 0 25,000




A nSHEL
M WS N 2 ISEAN E
el xrE2elMdlA X (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Agze|ge =8 25,000 25,000
206 M=l 13,000 13,000
01 MZH| 13,000 13,000
O OIENST Hs e MI&
13,0002 *1,0007H 13,000
307 @12to| & 12,000 12,000
02 QB HANEEX 12,000 12,000
O ANsSA24EH MdlA X2
12,000,000 *14{ 12,000
HH2IJH(NSHE L) 337,617 325,624 11,993
=] 313,457 303,964 9,493
QI 2HH(RNSHED) 313,457 303,964 9,493
101 @12A4H| 304,533 295,408 9,125
01 2= 177,248 172,928 4,320
O =224 177,248
O A2telaesgy
12,8443 x23H 50| 2t 12 177,248
02 JIEtME = 23,120 22,556 564
O =u=22s< 23,120
O Ale22sE
12,8443 «3E +50A[ 2+ 122 23,120
03 SRA(RIH )22 U2+ 104,165 99,924 4,241
O SRA(IAL) 224 E+ 104,165
O JlZs 2,148,910 x2E «12& 51,574
O ZHZAMHI 140,000 =2 * 12 3,360
O AR2xH 30,0002 x2& =123 720
O JIZdu=s 2,318,910 ~2& »4E 18,552
O 9=y 1,391, 340212223 5,566
O zn2P4Y
16,6403 x2E *20A[ 2+ 123 7,988
O J22*F=8
133, 1402 x2& x4« 123 12,782
O Axte=< 88,7603 x2& 152 2,663
O J&5+g 40,0003 x2&« 123 960
04 HSRESS 8,924 8,556 368
M BRA(RIAY) 22X BE=2RE=3 S 8,924 8,55 368
0 SRI22X HSRES
104,165,0002 *4. 5% 4,688
U SFRAIZA A28 s FE=
104,165,000 *3. 6% 3,750
O SRA2Z 2T ILLESE FE=
3,750,000 *12.95% 486
Jl=3H| 24,160 21,660 2,500
Jl2dtl(nsS3#EM) 24,160 21,660 2,500




SA: DEHHI
. HY2IZH(nSHH)
Chel: J1=2 &l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 11,860 11,860
01 Ar2eltl 11,860 11,860
[ Le==H| 11,860
O usSHEAM £ sEHAEAM R
30,0003+ 165 480
O =RA2HEAN 22
30,0003 * 102 +23] 600
O dIANRESE 72
20,0002 *105+103] 2,000
O SAMEA 7
30,0003 x20 A *43| 2,400
O IS 245 AfNEN ROl
1002 %1,00001 8= 800
O #EAMNRII| ARE 7L
300,0002 x55+33] 4,500
O 22X & WX =
15,0003 x65+ 123 1,080
202 04dl 6,900 4,400 2,500
01 =W0dbI 6,900 4,400 2,500
O #E2HE S0l
20,0003 +23H 15 6,900
203 PYRF=&Y| 4,200 4,200
M 2GR FALI 4,200 4,200
O nsSddE 350,000& =123 4,200
204 MR AH| 1,200 1,200
01 AHZ R A 1,200 1,200
O WSHZYE 100,000 12& 1,200
HREs(nsSHF) 2,200,000 0 2,200,000
LHEHH K= 2,200,000 0 2,200,000
HEHH XIS (nES8F ) 2,200,000 0 2,200,000
701 JIEt2 HISEHEZ 2,200,000 0 2,200,000
01 JIEtSIHEESZ 2,200,000 0 2,200,000
O =XNEELESH &3
2,200,000,000& *14! 2,200,000




